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U.G. 4th Semester Examination - 2022

ECONOMICS
[HONOURS]
Skill Enhancement Course (SEC)
Course Code : ECO-H-SEC-T-2
(Computer Application for Data Analysis)

Full Marks : 40 Time : 2 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

Answer all the questions.

1. Answer any seven questions: 2x7=14
- A AT TeF 7S ¢

a) How do you write the formula in Excel for the
following?—Multiply the value in cell Al by
S, add the result by 3 and divide it by 9. The

value in cell Al is 10.

faema werifba v amE & Fere
FA@—Al FE-AF RS 5 7 9 I, OB
S 3 B @9l IR @R G2, [@I9FECF 9
T ©lsl 9 T Al FE-AF AT ore
=g = 10.
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b)

d)

g)

h)
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Write the utility of Filter feature.
fRe=Gla Rebicam Soifarel @12l |

Which feature in Excel should be used to solve

linear programming problem?

R (I T TR G AT i
Reolals aRiw 41 Tibe?

How do you calculate the percentage in Excel?
TS *foigel el e e

How to freeze rows and columns in Excel?
G rows €K columns eI fre 4032

How do you find duplicate numbers in a

Column?
eIt @b Column-4 Ay FRpsfer Y& #11C3 2

Mention a suitable type of chart for comparing

percentages over categories.

Rien Revielr *oRm & wowl FF &
ToRE BI6T S 4|

What kind of chart is useful to examine

correlation between two variables?
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i)

i)
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How do you add comments to a cell?
IR @I ER1-9 MW @9 FAE?

What does $(dollar sign) mean in Excel

formulas?
G Riew @ $(Ters o) e /62

In 1995, out of a total of 5,000 workers in a
factory, 3,900 were members of a trade union.
The number of women workers was 650, out
of which 500 did not belong to any trade union.
In 1997, the number of trade union workers
was 4,200 of which, 3,400 were men. The
number of non-union workers was 1,400

among which 450 were women.

Present the information given above in a

suitable tabular form. 16

1995 A @36 F[ANF @6 5,000 T &N
M 3,900 & @I (GC TCMREE Aoy e |
e wfzen wfiea wian &= 650, I 500
e (GC 2SR ey & 711 1997 AN,
ol ®ifira s 2w 4,200 1, TR S0
3,400 & e 77 S| BFRER ey T
axe ¥ A7 e 1,400 T, I S0 450
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b)
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The following information is given for a

hypothetical economy (in Rs. Crore):
Consumption: 10

Government expenditure: 14
Investments: 24

Depreciation: 2

Exports: 8

Imports: 4

Factor income from abroad: 1
Factor payment to abroad: 3
Calculate using Excel:

1) National income

i1) Net investment

ii1) Net factor income from abroad
iv) Net export

v) Net national income 10

e 9ot elere wehifen o orea =itz (&I
TIFE OF) 2

CSI5=0T 2 10

T I 2 14

e 57 ¢ 24
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